A = 0l &

A& & Al A

20228 20iat Lete| o SXIXI2 0
A SXXAL
M HH2AZHI(SRXAD)
el Jl=3 (et &)
. i o PSIEL =
A - FJ - GR(3H) - MRAY - BYS Ofl &b oK 01l ko HlwE2
=XKL D 83,784,674 79,159,057 4,625,617
2 48,111,509
| 952,556
S 7,389,512
2 27,331,097
HHSAHAL (XKD 24,920 18,920 6,000
Jl=2| 24,920 18,920 6,000
PR 24,920 18,920 6.000
201 YeH2 | 16,280 14,120 2,160
01 Al=22H| 14,280 12,120 2,160
Oget+=EH| 14,280
0I=AREE 100,000 %17¢! 1,700
OAFRID| & SAIBE 7,000,000 7,000
0JIEH=2HI 1,500,000 1,500
SEH(SXXEL BRLFN)
8,0002%1701%304! 4,080
02 3324 2,000 2,000 0
O2EL2 S 2,000,000 2,000
202 01t 8,640 4,800 3,840
01 =LAl 8.640 4,800 3,840
OZ2(0{HI(BE0{H]) 180, 000244 &S+ 128 8,640
HHZASH (XX 6,600 5,600 1,000
SAER2H 6.600 5.600 1,000
ol A 6.600 5,600 1,000
203 & RFZ| 6.600 5,600 1,000
03 A FTIALEA| 3,000 2,000 1,000
OSXYL AlEZT 3,000,0008! 3,000
04 RARIYLEA| 3,600 3.600 0
ORAN2HHLEAY| 300,00024* 128 3,600
SXX JIPns 16,975,506 12,265,227 4,710,279
2 7,541,063
3 1,305,407
2 8,129,036
OO S MEOIHX| 2,804, 149 2,598,098 206,051
2 1,845,569
= 210,408
= 748,172
ojol=x 2 15,200 12,160 3,040
201 Yee S| 3,200 2,560 640
01 AlR22H 3,200 2,560 640
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SKIXI2 1

M =N IS
Sol: 0Kl S MBI (Sho: ®21)
- < - bSEL ~
A - FB . GRI(S) - HIRAY - BES 0l ot Sl Ao HlmZ2t
OSZ(ZHI=NERE)
8,00024+501+804! 3,200
202 01t 2,000 9,600 2,400
ENE] 2,000 9,600 2,400
OB =X APET 200,00021+501+ 122 12,000
ANBIZTIAF 2 2120 HeHA 14,000 144,000 0
301 YBEES 14,000 144,000 0
2 JlEIE A 144,000 144,000 0
OAMBIZXIA @ 2|22 KN 14,000
OAFSI S RIAIE[FOHRI(7791), 0141 (1321), 01
(1001)] 30,0002+ 10001 122 36,000
OABISTIAIZ (0! & &IIReI|2
30,000230001* 122 108,000
ZoHolois 201 X2 2,267,268 1,896,960 370,308
= 1,567,088
= 204,054
2 476,126
301 YBEES 2,267,268 1,896,960 370,308
= 1,567,088
= 204,054
2 476,126
EEE =P = 2,267,268 1,896,960 370,308
OFOHQIH(72921) 2,267,268, 0002 2,267,268
2 1,567,088
= 204,054
2 476,126
N EIGIES ! 144,916 196,393 A51,477
2 101,441
2 43,475
301 YBEES 144,916 196,393 ~51,477
2 101,441
2 43,475
01 AEIBEEE2 144,916 96,393 ~51,477
OMH, A Z+STH AL, THIH F0§4-EH(3309!)
144,916, 0002 144,916
2 101,441
2 43,475
DN (XA S) NS 138, 153 221,029 182,876
2 %707
2 41,446
301 LBFES 138, 153 221,029 782,876
2 %, 707
2 41,446
EEE e = 138, 163 221,029 782,876
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SKIXI2 1

Hu: =XXY JPRE
ol OOl S MBI (Et9l: M)
. i - PSEL =
A - B - SR(ZH) - MFAY - BES Ol &bt 01l ko HnS2
OBNFS(FA, n=, (5] /Z0rE =2 (0]
X, XIA1, AI&)2500] 138, 153,002 138, 153
2 %707
2 4,446
2045 () 14,880 19,200 24,320
= 4,464
2 10,416
301 LBHRFI 14,880 19,200 £4,320
= 4,464
2 10,416
01 NEIBEEGI2 14,880 19,200 £4,320
OF-L(ZOHRINS & 42, AZZ0 43
=01 TIIROHR!) 14,880, 0002 14,880
= 4,464
2 10,416
S EETIPE 73,556 102,756 129,200
2 58,845
2 14,711
403 XHXISHHIS KH= 0| & 73,556 102,756 £29,200
2 58,845
2 14,711
02 ZII 2 SUHI =R IS AT 73,556 102,756 £29,200
O=OojRIoIZHl XIR(11291) 73,556, 000! 73,556
2 58,845
2 14,711
HASHONO! Tcth 230 L Al X 1,576 1,000 576
= 788
2 788
301 LBHRFI 1,576 1,000 576
= 788
2 788
EEE e 1,576 1,000 576
ORAS F0jQl AN 23 L 2AK X2
(5001) 1,576, 0002 1,576
=2 788
2 788
Ol&TOfel LIS 1,000 1,000 0
= 700
= 90
2 210
301 LBHRFI 1,000 1,000 0
=2 700
= 90
2 210
== = 1,000 1,000 0
OIS ZOHO! B K 1,000,0002+1¢! 1,000
= 700
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A
T
(=R B

el

SXI X2
SXXE JeR=
IOl S MR TS

o=C o

o
0
B
0

S - FE - SRI(BH) - HIRARY - BAS

rx
12

bSIE[=

[T T R

Ofl &2k

HWE

0

M HT

90
210

M H

3,600

1,800
1,800

3,600

SUNE

3,600

1,800
1,800

3,600

S4Hl S X 3,600,000&

M

3,600

3,600

1,800
1,800

3,600

MW

4,173,848

2,753,121
444,829
975,898

3,446,649

727,199

H oA

3,234,819

2,264,373
291,134
679,312

2,585,344

649,475

308 AXIEHISOIH

MW

3,234,819

2,264,373
291,134
679,312

2,585,344

649,475

KI24(143¢21) 3,234,819,000&

MW

3,234,819

3,234,819
2,264,373
291,134
679,312

2,585,344

649,475

MW

38,125
26,688
3,431
8,006

13,878

24,247

308 AFXIEHISOIH

o H

38,125

26,688
3,431
8,006

13,878

24,247

38,125,000

H W

38,125

38,125
26,688
3,431
8,006

13,878

24,247

OH

re
H
10

OIXI&

O
0l
04

M

105,840

31,752
74,088

141,120

A35,280

308 AHAISHHSOIA

105,840

141,120

235,280
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Za: 2NN IS
el HOYIALSI 2 S K (Sr9: &)
< _ . bSEL =
A - B - SR(ZH) - MFAY - BES Ofl &b oK 01l ko HnS2
= 37,752
2 74,088
11 2SS Z AR ASAISH] 106,840 41,120 ~35,280
OZEZHN 20| KA(1501)
105,840, 0002 105,840
= 31,752
2 74,088
SSLTHEALIA XIS 71,280 75,600 24,320
2 49,89
< 10,692
2 0,692
308 RXISHHISOIH 71,280 75,600 £4,320
2 49,89
= 0,692
2 0,692
11 BSOS B AR ASAISH] 71,280 75,600 ~4,320
O THEAHIA(3301) 71,280,002 71,280
2 49,89
< 0,692
2 10,692
SETOfO! FAESAHHIAKI 412,909 305,600 87,309
2 289,087
= 61,936
2 61,936
308 XXISHHISOIH 412,909 305,600 87,309
2 289,087
= 61,936
2 61,936
11 BSOS B AR ASAISH] 412,909 325,600 87,309
OSFOIO! A ESMHIA XIR(219)
412,909, 0002 412,909
2 289,087
= 61,936
2 61,936
HAE NS YASLSHHIA XS 175,895 166,557 9,338
2 123,127
= 26,384
2 26,384
308 KXISHHISOIH 175,895 166,557 9,338
2 123,127
= 26,384
2 26,384
11 BSOS B AR ASAISH] 175,89 166,557 9,338
OZAS LSS YDSHS AHIA XS
(2091) 175,895, 0002 175,895
2 123,127
= 26,384
2 26,384
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XM 2X XY J|BR=
CHRl: ZOHQIAIS BHE X (&2 AR
£ _ - bSlEl= ~
2 -2 H2A(ZAH) - MRAY - BHES 04| At O“ﬂ,qou Hns2
ZEZZOHOIMICH Alali&el XIg 37,430 42,000 24,570
[= 13,100
= 24,330
307 12| A 37,430 42,000 24,570
[= 13,100
= 24,330
11 AIBIEXAIS B X 37,430 42,000 24,570
OZZHOHQIAICH AlllZ2l RI(1IHA)
37,430,00024 37,430
[= 13,100
= 24,330
oA EONC JISESENS 3,000 3,000 0
[= 1,500
= 1,500
307 @120l 3,000 3,000 0
[= 1,500
= 1,500
11 AIBIEXAIEE X 3,000 3,000 0
ONWAZR JISSSRI(1HA)
3,000,000 3,000
[= 1,500
= 1,500
AZEEOHO! D ZTE DS 5,000 5,000 0
[~ 2,500
= 2,500
307 120 A 5,000 5,000 0
[== 2,500
= 2,500
11 AIBIEXAIEE X 5,000 5,000 0
OAZE O JI=MHE RS (1HA)
5,000,000 5,000
[ 2,500
= 2,500
ZHOHEHA BIEH) |2t SEAIY 8,000 8,000 0
[= 2,400
= 5,600
307 @120 A 8,000 8,000 0
[= 2,400
= 5,600
11 AIBIEXAIEE X 8,000 8,000 0
OZ0HEHA 2t8H)|2F SEAI(YHRIstn) 29(
48:3) 1,000,000 x48H=2+23) 8,000
[= 2,400
= 5,600
ZHOHQISHRI K| & 71,550 70,550 1,000
301 YBtEAZ 15,950 15,950 0
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Hu: =XXY JPRE
=Rl ZoHAR 2SI (el &)
= x 5 z bSEL
SA - B S9I(SH) - HIRAY - BAS of ety e HIDS2
09 ALABIXIE S 15,950 15,950 0
OsorelgzdEZ s FEs0IMSHE
50,000& #3591 1,750
OsorelgzidtE=zXs FEs0rel2E sl
50,000& #1021 500
O=s0lelgedE 22 FEsoteliisl
50,0002 %282! 1,400
Os0lelgztE2Xg =028l
50,000 3591 1,750
OAIZIE QIS MEZ XS] MBIESEE AAl
50,0002 %3021 1,500
OAIZIH QI ME 2 X2l SIXIE0I2Y A}
50,000&*362! 1,800
OXNHME S ME 2 X2l HUISSZEA
AL FA 50,000 #3591 1,750
OXNMEOHE 2l ME 2 X2l FOHRIIISEIIU
3 &4 50,000& #1021 500
OXNMEHLE 2 ME 2 X2 H=XIMEO0H K|
=3 &4 50,00024%302! 1,500
OXME eI EelMEZ X2 EXIMER! et
OrStHal 4 50,000 #4091 2,000
OXNHME M E A2 X2l AS=ME MO0
ctElal 4 50,000&*302! 1,500
307 212401 55,600 54,600 1,000
03 2IHHHHI=2ZHIE X 12,300 12,300 0
OZEANE M ME =3 2
8,800,000 8,800
OZ A ME M= MEZ R =24
2,000,000 2,000
OZg=s0IEMEZAR 28 800,000 800
OZ A EME 2 28
700,000 700
1 AIZISXAIE 2R 43,300 42,300 1,000
OFofloY JISHA 30,000&*1,0002! 30,000
OdeXME Mg A= X3 ZHA=XS
A 9,000,000 9,000
OZEAIZF MM Z X e HUjI=XS
SAS 2,300,000 2,300
OZ =08 ME AT OIS XISEA
& 2,000,000 2,000
ZOoHe! HEE = 10,000 10,000 0
307 glztold 10,000 10,000 0
04 QIZFSHAIANIHE X 10,000 10,000 0
OZad JUH=IIME HZEUS
10,0002 1,0002! 10,000
ZoHelEoS A 23,320 21,320 2,000
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¢ SAXAD
D SXXE JIgR=

D HoelEHe B oo E R
- _ - S
SN - " GRI(SA) - HIRAR - BES Ao Ol Akl B
= 1,792
T 1,500
o 20,028
ZOHQIEH SIS 2 S 13,080 16,080
201 LBEH2| 13,080 13,080
01 AtR2telt| 11,170 11,170
OXOCIXSXHERl 01 S 1,300 & *5000H 650
OHMLISNAY E2= ME S
1,000 & *5000H4 500
O sz B= 2,5003*20001x12& 6,000
OXOCIAD S W= 1,500,000&*13] 1,500
OBNESNY +SNALORAVE FA+Y
70,0003 62163 2,520
02 2323l 1,910 1,910
OIS XIIE SIHE= 3,820 *500H 1,910
ZHofeIERD|? K& 2,240 2,240
= 1,792
= 448
301 LeEAZ 2,240 2,240
= 1,792
= 448
01 At2|2EE 513 2,240 2,240
OFOHRIE XD |D| WA 2,240,000& 2,240
= 1,792
= 448
ZOHRIERD|+ ¥ Hel&H| X 3,000 3,000
& 1,500
= 1,500
301 LPBEES 3,000 3,000
T 1,500
[ 1,500
01 AlRIEEE 63 3,000 3,000
OZOHRIEXDD| & HO|&H| XIAAS
3,000,000& 3,000
& 1,500
= 1,500
ZoHe! EMo S EXI10| =2l XA 5,000 0
301 LeIEHZ 5,000 0
01 AlRIEEE 63 5,000 0
Q&L X0l s BRI =2l XA
200,000 & %2591 5,000
ORI LRI & E 624,555 529,820
= 307,960
< 96,706
= 219,889
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L ST OIS
IR

o
0
B
[0

bSIE[=

[T T R

Ol ko

HWE

0

HH W

301,324

150,662
45,199
105,463

260,674

40,650

M

300,334

150, 167
45,051
105,116

259,774

40,560

04 JIZtN2 2 RS2+

OFofe! et (#E =0l 1121)

300,334,000

M H

300,334

300,334
150, 167
45,051
105,116

259,774

40,560

H A

990

495
148
347

900

90

90,000&*11¢2!

O

990

990
495
148
347

900

90

O LXK (AIZERIZX2l)

M W

96,555

48,278
14,483
33,794

78,794

17,761

101 /=244

M

95,925

47,963
14,389
33,573

78,254

17,671

04 JIZtN2 2 RS2+

OO0 AIRIMIL R (FEE=<0] 7¢1)

95,925,000

HH

95,925

95,925
47,963
14,389
33,573

78,254

17,671

H W

630

315
%A
221

540

90

01 AtR2teid
OO AN AeIAIE 23

90,0002 *7¢2!

HH W

630

630
315

94
221

540

90

ZOHRIL X2l X (SRLX2)

148,114

128,344

19,770
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Ha: 2NN IS
ool FOjOIURIRIAE (

0
o
o
[0

i . - Sl
SA - B SRI(3H) - IRAR - BES 0f atod e HIDS

0

74,057
22,217
51,840

M H

101 21244 146,044 126,454 19,590

73,022
21,907
51,115

M

04 JIZtN2Z2 RS2+ 146,044 126,454 19,590

O 0Kl SXILXt2l(2321) 146,044,000 146,044
73,022
21,907
51,115

HH W

201 k=& 2,070 1,890 180

1,035
310
725

HH W

01 AtR2teid 2,070 1,890 180
OO SXLXelAty 23 90,0002 *232! 2,070
1,035

310
725

HH H

ZOHRI=Xt S = 20] 8,636 12,096 A3,460

4,318
4,318

M

101 1244 8,636 12,096 A3,460

4,318
4,318

M H

04 JIZtN2 2 XS E+ 8,636 12,096 A3,460
OZIOHR! =Xt 01(22) 8,636,000 8,636

4,318
4,318

M

ZOHQIL X2 X (L L E O LUE SAIBEXI2]) 69,926 49,912 20,014

34,963
10,489
24,474

HH W

307 212+0IA 69,926 49,912 20,014

34,963
10,489
24,474

Mo

11 ABIEXAEE 69,926 49,912 20,014
QLR QULSAF EXAUI2I(401)
69,926,0002! 69,926

34,963
10,489
24,474

M

ZOHISXAIZXIA 9,349,634 5,669,340 3,680,294
2,632,621

H
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[

=

S ER!
ST Ol
ZHOHQI = XIAI LTI 2

o
0
B
0

S - FE - SRI(BH) - HIRARY - BAS

Ol

AFOH

— T

bSIE[=

[l

Ol ko

HWE

0

M HI

551,964
6,165,049

o
2
o
=
i
>
o
Mo
02
P
0

M H

3,689,117

2,582,381
332,020
774,716

3,742,565

N53,448

307 S12+0|&

MW

3,689,117

2,582,381
332,020
774,716

3,742,565

A\B53,448

10 ARISXAEHE 2SI 22X

OXOHRIHZAIE KR (20HA)
3,689, 117,000

W

3,689,117

3,689, 117
2,582,381
332,020
774,716

3,742,565

A\B3,448

ZOHRIH=FAIE XIES 02

o

1,771

2,828
8,943

12,775

1,004

307 212+01A

M

1,771

2,828
8,943

12,775

1,004

10 Al2ISXAEEE2SHIEX

OZOHRIAHTAIE XIS OF24=EH(2IHA)

11,771,000&

H H

1,771

1,771
2,828
8,943

12,775

21,004

HH W

2,100

1,260
252
588

2,100

307 B12+ol&

H A

2,100

1,260
252
588

2,100

1 AIRIZXAIEE R
A

OZMLINFAIE 2EXA(SII1EEI| dE)

H

2,100

2,100
1,260
252
588

2,100

M H

69,972

48,980
6,297
14,695

69,972

307 212+0I1A

W

69,972

48,980
6,297

69,972
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SKIXI2 1
SXXH Jlg+=

SHol: FOYRIZRI ALK (SHol: m21)
3 NET -
A - B - SR(ZH) - MFAY - BES Ol &bt 01l ko HnS2
= 2,65
OGN EEEETEEES 69,972 0 69,972
OZWLHFAIL ALY
98,00021+2801 17215 69,972
2 48,980
= 6,297
2 14,695
HOHOIAIL BARISS 218,283 260,000 AA1,T17
= 59,943
2 158,340
307 BI2H0IH 218,283 260,000 £A1,T17
= 59,943
2 158,340
NS ONEEEE=TEEES 218,283 260,000 AATT717
OBHRIAIE BARE (50H4)
218,283, 0002 218,283
< 59,943
2 158,340
OHOI R I THELAI & 204,737 208,400 16,337
= 8,400
2 216,337
307 BIRH0IH 204,737 204,400 20,337
= 8,400
2 216,337
NSNS 204,737 204,400 20,337
OFOHQ! SATHEAIL 224(012/188)
224,737,0002! 224,737
= 8,400
2 216,337
TONOIKQITHEAIE BAX &L 7,800 0 7,800
= 2,340
2 5,460
307 BI2I0IH 7,800 0 7,800
= 2,340
2 5,460
ONEE N EFEEETEEES 7,800 0 7,800
OB HTHEAIL BARAE
(200, 00021%321% 122 )+( 100, 0002+301+251) 7,800
= 2,340
2 5,460
AAFETR 2 K 1,060,000 1,000,000 60,000
< 51,100
2 1,008,900
307 BIRHOIH 1,060,000 1,000,000 60,000
= 51,100
2 1,008,900
NEENAEEE2BHEX 1,060,000 1,000,000 60,000
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Za: 2NN IS
SH9l: FOHOI=RIAILKI (Sr9: &)
. i - PSEL =
A - B - SR(ZH) - MFAY - BES Ofl &b oK 01l ko HnS2
OUAEERT =] 1,060,000, 00021 7,060,000
< 51,100
2 1,008,900
ZOHOI=XI B BARISS 54,600 0 54,600
= 16,380
2 38,220
307 BIRI0IH 54,600 0 54,600
= 16,380
2 38,220
DN EEEETEEES 54,600 0 54,600
OBOHRISRIT BAR 42 KIA(2191)
(200, 00052121+ 128 }+( 100, 00081 52191+251) 54,600
= 16,380
2 38,220
NN ENESNERIE 108,300 97,500 0,800
= 5,100
2 103,200
307 BI2H0IH 108,300 97,500 0,800
= 5,100
2 103,200
NS ONE R EES 108,300 97,500 0,800
OZHRIMBOISTIHME 2Y(1H4)
108,300, 0002 108,300
= 5,100
2 103,200
NVEERTE 101,537 9,000 5,537
= 4,237
2 97,300
307 BIRH0IH 101,537 9,000 5,537
= 4,237
2 97,300
OGN EEEETEEES 101,537 96,000 5,537
OX0ISHHEH 2(10H4) 101,537, 0002 101,537
= 4,237
2 97,300
A2t ORR! FF2He SHIE 101,917 90,000 11,917
< 21,217
2 80,700
307 BIRH0IH 101,917 90,000 11,917
< 21,217
2 80,700
DG EEE=TEE=ES 101,917 90,000 11,917
OAILR OOl FASSHE 2A(17H4)
101,917, 0002 101,917
= 21,217
2 80,700
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Za: 2NN IS
SH9l: FOHOI=RIAILKI (Sr9: &)
. i - PSEL =
A - B - SR(ZH) - MFAY - BES Ofl &b oK 01l ko HnS2
S REEEB P ERTE 60,000 60,000 0
< 18,000
2 42,000
307 BIRH0IH 60,000 60,000 0
= 18,000
2 42,000
OGN EEEETEE=ES 60,000 60,000 0
OB OHRIHISTIISNIAME SY(1IHL)
60,000,0002! 60,000
= 18,000
2 42,000
SEIBTESET 79,500 100,000 220,500
= 23,850
2 55,650
307 BIRH0IH 79,500 100,000 £20,500
< 23,850
i 55,650
OGN EEEETEES 79,500 100,000 20,500
OZHIISTIRME S (1H4)
79,500,002 79,500
= 23,850
2 55,650
AAFET 2 2R 22 3,560,000 0 3,560,000
401 Al&BIL=CHY| 3,560,000 0 3,560,000
01 AIZH] 3,560,000 0 3,560,000
OMANF=T 2 22 21 3,560,000, 0002 3,560,000
col =X B3 55,699,389 54,065,521 1,633,868
= 37,002,298
| 81,195
= 3,147,684
2 15,468,212
RS 862,015 811,263 50,752
= 1,312
2 860,703
EEWEEET 243,915 242,883 1,032
201 Yt2| 19,565 20,133 568
01 ArR22H] 19,325 18,633 6%
OOlHiOlZ SBI S48t RIZ  55,0002+110H2 605
Ooltiole & ololy BERY M
20,00024+300H 600
OOlHHOIE & =QIold Al BOIE 1Y
30,00024+300! 90
O=0I=SS o 0l0ISYK IIUF =AM 4
+2 516,000, 000+ 1% 5,160
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. i - PSEL =
A - FB . GRI(S) - HIRAY - BES 0l ot Sl Ao HlmZ2t
OLo== o 00 JIC 2262
30024+6,00021 1,800
OF2Y 2TUE A= 5, 000244002 2,000
OFIIQUIIB NT MARIAE Eas
70,00021%421+123] 3,360
OLQIYESZAHIA A0j5| ALY
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[= 1,500
2 3,500
=SS 29 X 691,280 400,300 290,980
7| 273,140
[ 81,942
= 336,198
307 RI2H0|& 691,280 400,300 290,980
7| 273,140
[ 81,942
Z 336,198
10 ABBIETAEEE2HH B X 691,280 400,300 290,980
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54,846
27,423

8,227
19,196

53,828

1,018

307 g12+ol&

J

M

54,846

27,423
8,227
19,196

53,828

1,018

11 ARIZXAIHEE R

OZSS0UsH 2 (10HL)

54,846,000

(]

M

54,846

54,846
27,423

8,227
19,196

53,828

1,018

HH

378,000

264,600
34,020
79,380

580,000

202,000

307 212401

H A

378,000

264,600
34,020
79,380

580,000

202,000

OOtoI=SXIJ A (0H0IE 2012521, 012 0+=80
)

378,000,000&

M

378,000

378,000
264,600
34,020
79,380

580,000

A202,000

HAS 822J1= cHIX

M

41,170

12,351
28,819

41,170

M

41,170

12,351
28,819

41,170
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AS BHRLIIE A ZH|(400,000268
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31,590,000

M
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,000,000& =1 AICH

M H
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41,170
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9,477
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2,100
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41,170
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2,000
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J
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262,920

210,336
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6
14
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3,770

1,131
2,639
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3,770

1,131
2,639

3,770
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OO0 &22 XHH MESZH| X2 (50,0008 *

M H

2,770,000

H

3,770

1,000

300
700

2,770
831
1,939

3,770

M

3,250

975
2,275

3,250

M

3,250

975
2,275

3,250

O EME XIJA

2
0
HI
140
=
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2,750,000&

M

500,000

M H

3,250

2,750
825
1,925
500

150
350

3,250

H H

6,000

1,200
4,800

6,000

M

6,000

1,200
4,800

6,000

6,000,000

M H

6,000

6,000

1,200
4,800

6,000

Ch23EXIR

J

M

251,874

71,142
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3,946

12,600

12,600

- 531 -



S A

SKIXI2 1

ol =X BW
B9l CHREDIEX (B9l =)
- < - bSEL ~
SN - B SR(3) - HIRAY - BYS 0 st e AimE==
= 3,780
z 8,820
201 YBt2| 12,600 12,600 0
< 3,780
= 8,820
01 AFR22lH] 12,600 12,600 0
OGISZE0IQIR 08! AT
30, 000245214843 12,600
= 3,780
= 8,820
Ol KIS 5,490 5,490 0
201 Yet2gy| 490 490 0
01 AFR 22l 490 490 0
OL2EIESYIas] Balag
70,00024%721+13] 490
301 YpteN2 5,000 5,000 0
01 ABIZEE5I2 5,000 5,000 0
OG&ZE0(2R JISF 500,0002%10¢! 5,000
CI2SIEXIME EAK SR8 23,400 23,400 0
= 7,020
2 16,380
307 Q1240 & 23,400 23,400 0
= 7,020
2 16,380
NERNEEEEETEES 23,400 23,400 0
OHIEl BA 28 X2 23,400
IR XSG 200, 00024%991 128 21,600
= 6,480
2 15, 120
0= 100,00021%901%23]| 1,800
= 540
= 1,260
OIS ZEO0ISIK CHRSDISXIRME QIEITHE 17,600 17,600 0
= 5,300
2 12,300
307 21240/ & 17,600 17,600 0
= 5,300
2 12,300
TREENEEES 17,600 17,600 0
OCIEZE0I0IX CH2SDISXIMHE QIETHS
1,760, 0002221452 17,600
= 5,300
= 12,300
CHE SIS RIS 4 AR AN 20,000 20,000 0
= 6,000
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S A
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SXIX2 2
e 21X =&

el O2eEN (&2 &)
. PSIE = =
A - 33 - SRA(3A) - NRAY - BES Ofl &kt 01l ko Hlusz
= 14,000
307 2I2+0|H 20,000 20,000 0
& 6.000
= 14,000
11 ABISTIAIIEE 20,000 20,000 0
OL23IEXIE S-AAE (OtEA2k2 st
2 HEY W) 20,000,0008! 20,000
= 6.000
= 14,000
ZE0|QR FR0P| T U AHIA 17,500 17,500 0
& 5,250
= 12,250
307 I2t0lH 17,500 17,500 0
-3 5,250
= 12,250
TREENIEEES 17,500 17,500 0
OZ&0/2IX F SR0P| M 2= MHIA (L=
S0 10! 4717) 17,500,0008! 17,500
-3 5,250
= 12,250
015010 WRZ2IY 2 13,000 13,000 0
-3 6.500
2 6,500
307 2I2+0lH 13,000 13,000 0
5 6.500
z 6.500
INEENRNEEES 13,000 13,000 0
O0I50 WEZ=8 2A (118, 152!)
13,000,0008! 13,000
-3 6.500
z 6.500
0Pt ZE0IF01E CHOISAY 3,000 3,000 0
p 1,500
[ 450
2 1,050
307 2I2+0lA 3,000 3,000 0
pJ 1,500
=3 450
z 1,050
INECINEEES 3,000 3,000 0
OZE0IX0E 2SIt 2AR
60,00021%201253] 3,000
p 1,500
-3 450
2 1,050
CH2EHE SHEIA 139,284 132,838 6,446
pJ 69,642

- 533 -



S A
K| ZH -
[

Stk

SR
old =1 =
BEEBIESE

o
0
B
10

A - 3 - RA(E)

c HISAE - BHES

rx
12

bSIE[=

[T T R

Ofl &2k

0

HWE

M HT

20,892
48,750

307 212+0I1A

(|

M

139,284

69,642
20,892
48,750

132,838

6,446

EPNERUIGE =,

(|

Mo

(|

M

XA (AAHLERE
37,660,000

J

M

15,500,000&

S

M H

139,284

31,788
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19,018

37,660
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=M =TT/
Ha: BRIIE
ool BREATY (=EIE-E)
. i - PSEL =
SN - B SR(3) - HIRAY - BYS 0 st e AimE==
EENEEERE 859,567 967,777 108,210
2 558,719
= 150,424
2 150,424
301 LBEES 859,567 967,777 £108,210
2 558,719
= 150,424
2 150,424
NEEEEE= 859,567 967,777 108,210
00-2H =52(9821) 859,567, 0002 859,567
2 558,719
= 150,424
2 150,424
ColnE ZSoRsEA 739,432 745,392 5,960
= 739,432
301 LBFES 739,432 745,392 ~5,960
= 739,432
REEE === 739,432 745,392 5,960
O3-6H ST 2S2(2000)), 22|, el
S AL H2HAH] 739,432, 0002 739,432
= 739,432
STHOIRI0IT KR (HEAS) 26,180 50,963 124,783
= 19,635
2 6,545
307 RI2H0IH 26,180 50,963 24,783
= 19,635
2 6,545
NS ONE R EES 26,180 50,963 124,783
OBZHOIZ0IT XIA(BU=R) 26,180,008 26,180
= 19,635
2 6,545
O1RI0IE XFRY X 2,368 28,000 4,368
2 16, 184
= 8,092
2 8,092
307 RI2H0I 3,368 28,000 4,368
2 16, 184
= 8,092
2 8,092
SRR -E= T =ES 32,368 28,000 4,368
OOZIOIE XZERAH| KR (200821200 Ax12
2) 32,368,002 32,368
2 16, 184
= 8,092
2 8,092
2l0ld w4l XI& 6,640 7,512 NB72
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=M =TT/
Hu: 2SI X
el PSHATY (=E LD
. i - PSEL =
SN - B SR(3) - HIRAY - BYS 0 st e AimE==
= 3,320
= 1,660
2 1,660
307 QI2FOIF 6,640 7,512 A872
= 3,320
= 1,660
2 1,660
10 ABISRAIZEE 2 GH 2 X 6,640 7,512 ~872
OBIIIZ(ABSS) 0RI0IF RHRTH X
(129H4) 6,640,002 6,640
=2 3,320
= 1,660
2 1,660
OlRI0IE RE B4R o3 1,000 268
= 466
= 233
2 233
301 LEBXS 932 1,000 A68
=2 466
= 233
2 233
01 AEIBEE62 o3 1,000 ABB
OBSLA B2DSH|(HLDS 0FY, 53
DS 14082 932,0002! 93
= 466
= 233
2 233
SSDI 01| X 1,666,059 2,021,088 355,029
2 833,020
= 416,515
2 416,515
307 BI2FOIF 1,666,059 2,021,088 355,009
2 833,029
= 416,515
2 416,515
10 ABISRAIEEE 2 G 2 X 1,666,059 2,021,088 355,029
O=22 L IS S IA8I(100H4)
1,666,059,0002! 1,666,059
2 833,020
= 416,515
2 416,515
SEDA L HAZESFDA 01218 179,802 217,800 37,998
2 89,901
= 44,951
2 44,950
307 BI2F0IF 179,802 217,800 137,998
2 89,901
= 44,951
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=M =TT/
Hu: P8I X9
el PSHATY (=E LD
. i - PSEL =
SN - 3 - SRA(SIH) - MRAY - BES Ol &bt 01l ko HnS2
= 74,950
10 MEIENAEEZ 22X 179,802 217,800 137,998
OBZWAF 21248|(521) 64,224,00024 64,224
2 2,112
= 16,056
2 16,056
OCIFBSE FLYWAF Q121H/(92))
115,578,0002! 115,578
= 57,789
= 28,89
2 28,894
OIRI0IT JIS2Y Al 4,420 6,900 £2,480
= 1,000
= 500
2 2,920
402 RI2HRHR0I 4,420 6,900 £2,480
= 1,000
= 500
2 2,920
01 DIZFAFE AR B E (RHAITHE) 2,420 0 2,420
OOIZI0IE 2)|=HF 2| X
220,00021%11H A 2,420
02 BIZEXFZ AN B E (01 HTHR) 2,000 6,900 A4,900
OOIZI0IE FIH| X 2,000, 0002%1HA 2,000
= 1,000
= 500
= 500
O1RI0I1F &N 1,100,000 0 1,100,000
= 690,000
2 410,000
201 LBr2g| 30,000 0 30,000
= 18,910
2 1,090
01 AR 22l 30,000 0 30,000
oYXz, OlFHl S 30,000, 00024 30,000
= 8,910
2 1,090
401 AlSHIL =T 1,070,000 0 1,070,000
= 671,090
2 398,910
01 Al&t] 1,066, 148 0 1,066, 148
OOZIOIE B2 1,066, 148,002 1,066, 148
= 668,575
2 397,573
03 Al SCHY| 3,852 0 3,852
OOZIOIE HB2ALR! STh|
1,070,000,000240. 36% 3,852

- 537 -




=M =TT/
Hu: 2SI X
el PSHATY (=E LD
. i - PSEL =
SN - 3 - SRA(SIH) - MRAY - BES Ol &bt 01l ko HnS2
= 2,515
2 1,337
222LEHAS 29 756 1,904 A1, 148
= 378
= 189
2 189
301 LBHBFI 756 1,904 A1, 148
= 378
= 189
2 189
NEEEEES= 59 1,584 988
OOZI01E 22BLIEYE HSHI(401/2240
M H2II0ER) 596, 0002 596
= 298
= 149
2 149
09 BAIAIHIXIHS 160 320 A160
OOZI0IE 22PLIEYE 89 L DS &4
40,00021#491+15] 160
2 80
= 40
2 40
SSINA H2HS X 247,370 241,960 5,410
2 123,685
= 61,843
2 61,842
301 LBHRFI 247,370 241,960 5,410
2 123,685
= 61,843
2 61,842
01 NEIBEEZSGI2 247,370 241,960 5,410
O WAKIZIY|(4991/240% 21+ 122)
152,420,002 152,420
2 76,210
= 3,105
2 38,105
OCFWE HLWAHIO!/ 1208 2128
14,496, 000! 14,496
= 7,248
= 3,624
2 3,624
OSESE22421(600!/ 1108 2+128)
80,454, 00024 80,454
2 40,227
= 20,114
2 20,113
EEEERESTRIPETE 3,915 42,720 AT7,805
= 6,983
2 27,982
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A ST
B P=)i= X
ool PRBAXY (cHel: @)
- < - bSEL ~
SA - B SRA(EH) - MRAY - BE=2 Ofl koA il arou s
301 LEIBES 34,915 42,720 AT7,805
= 6,983
= 27,932
01 Al2I2EHE 5= 34,915 42,720 AT7,805
OESDAN M (10201/ H=XISAIE 20
M2, DINAIL &) 27,315,002 27,315
= 5,463
i 21,852
OSSN AD4H(H,54)
50,0002 *7621%23] 7,600
= 1,520
= 6,080
BEWAA YIS K2 (KHA) 5,760 10,800 A5,040
301 YEIEEZ 5,760 10,800 25,040
01 AlRIEEE0l3 5,760 10,800 25,040
ORIZIOIZI0IE ERMAF KM
60,0002 x821x12& 5,760
oeloly eteEsz XA 1,756 2,392 AB36
= 878
i 878
201 LEt2 | 1,756 2,392 AB36
= 878
i 878
02 2223l 1,756 2,392 AB36
OO0lRIOIE QEPEE NA(12H4)
1,756,000& 1,756
T 878
2 878
QIZ2tHel01E el XI& 937 3,000 A2,063
= 281
2 656
307 BI2H0| ™ 937 3,000 22,063
& 281
i 656
10 A2 EXAEHE2IHIEX 937 3,000 A2,063
ORIZHOfRI0NE et I 937, 0002 937
= 281
= 656
DIZHOIRI0IE FIAR Q121H| X2 15,840 15,840 0
= 3,168
i 12,672
307 QI2toI& 15,840 15,840 0
= 3,168
~ 12,672
EENEEEEETEES 15,840 15,840 0
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=M =TT/
Hu: 2SI X
el PSHATY (=E LD
. i - PSEL =
SN - 3 - SRA(SIH) - MRAY - BES Ol &bt 01l ko HnS2
ORIIOIEI0NE FIAE oliEl(=2=d 45084,
ZIN-CSS 3308 ) 15,840,0002! 15,840
= 3,168
2 12,672
PSHT K 4,480 6,580 £2,100
201 LBr2 | 3,480 3,480 0
01 AR 22l 3,480 3,480 0
OB E22 N 500, 00021423 1,000
OSSYMUIAS FHLY  70,0008%1201+25] 1,680
O2SDIY OSSNY DS S SAE
200,00021#43| 800
301 LBHRHI 1,000 3,100 £2,100
CEIPINES 1,000 3,100 A2, 100
OBSDE A BHLY 50,000/%2021 1,000
ORI0IRBAR 13l 3,000 3,000 0
307 BI2FOIF 3,000 3,000 0
04 DIIAAI 3,000 3,000 0
OORI0IE 2SR A
3,000,0002#13] 3,000
O1RI0] DIBLHIBIBAL 5,000 5,000 0
307 LI2f0IF 5,000 5,000 0
04 DIZFEATATRI 5,000 5,000 0
OOZI0IE BSHIE Al 5,000,0002*13] 5,000
O1RI0IZ S2HAIHI X 82,000 9,000 A14,000
307 QI2F0I R 82,000 9,000 A14,000
11 MBS A2 E 82,000 9,000 A14,000
OOIRI0IE 2. 2HAI| I (12984/34001+20%
2Ax128) 82,000, 00024 82,000
CHRI A Q12| X! 73,800 73,800 0
2 36,900
= 18,450
2 18,450
307 BI2F0IF 73,800 73,800 0
2 36,900
= 18,450
2 18,450
10 ABISRAIEEE 2 G0 2 X 73,800 73,800 0
OCHHIAL Q1248] IR (1242) 73,800,000 73,800
2 36,900
= 18,450
2 18,450
ORI0/1Z Hotet 2HEA5 X2 2,900 13,680 A10,780
= 870
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SN =X
HH: ERIIE X
2R TRE3%d (Sr9): &)
S PSJE]= =
A - B - SR(ZH) - MFAY - BES Ol &bt 01l ko HnS2
= 2,030
307 I2H01E 2,900 13,680 A10,780
= 870
2 2,080
NS ENNEE =R 2,900 13,680 10,780
O 01X OIZ0IE 0-2HE 22|
2,900,002 2,900
= 870
2 2,080
ZZHORIOIE 2REE A”AL 4,823 5, 160 A337
= 1,447
2 3,376
307 RI2401E 4,823 5, 160 A337
= 1,447
2 3,376
10 ABISXAISHE2SHEE 4,823 5, 160 ~337
OZTEORI0IT 2I3-6AIE 2HHI(BUS)
4,823,002 4,823
= 1,447
2 3,376
xrer2 el X (R) 28,800 25,200 3,600
307 BI2H01E 28,800 25,200 3,600
TGN ELEES 28,800 25,200 3,600
O™ 602! 012+ O{RI0IF X2
300, 000218 A+ 122 28,800
NZHESABIA HIZ N2 47,900 0 47,900
2 23,950
= 1,975
2 1,975
301 LB 3,600 0 3,600
2 1,800
= 90
2 90
01 NEZEH=H3 3,600 0 3,600
ONEDLEEE] 3,0002100AI 24122 3,600
2 1,800
= 90
2 900
307 I2H01E 44,300 0 44,300
= 22,150
= 1,075
= 1,075
10 ABISXAISSE2SHEE 44,300 0 44,300
OAZIRIOIZIOIE 2YI(10H4)  44,300,0008 44,300
2 22,150
= 11,075
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Hu: P8I X9
el PSHATY (=E LD
. i - PSEL =
SN - 3 - SRA(SIH) - MRAY - BES Ol &bt 01l ko HnS2
| = 7,075
otag X 224,706 0 224,706
2 146,058
= 39,324
2 39,324
301 LBHRHI 224,706 0 224,706
2 146,058
= 39,324
2 39,324
01 NEIBEE G2 224,706 0 224,706
O0~1H| SO=EH(300&2+6201+122)
224,705,31024 224,706
2 146,058
= 39,324
2 39,324
Ol BAW 2AF |4 3,668,353 3,428,454 239,899
= 1,306,201
p] 289,240
< 447,797
2 1,625,115
EEETS 2,616,504 2,451,381 165, 123
= 1,268,613
p] 31,908
= 386,809
2 929,174
OIS=X 2Y 1 14,990 1,950 3,040
201 LBr2 | 5,390 4,750 640
01 AlR 22l 5,390 4,750 640
OOIS=XSY ARESTY L fRI0IL SA}
AFHE S 50,0002/+1321 650
OOISZAIRIRS BA4Y  70,00024821+25] 1,120
OX%SEaiolH 8o aaay
70,00024%721423] 980
ONASZEAM SYSE 7Y 40,0002+25] 80
OEECII(VES-PREEEESS)
8,00020%4215804] 2,560
202 01t 9,600 7,200 2,400
01 =UH0id| 9,600 7,200 2,400
O[E=-PNEL-EER.Y 200,00021%401+12% 9,600
NENEREESPNE 346,440 305,800 20,640
2 173,220
= 69,288
2 103,932
307 BI2F0IF 346,440 305,800 20,640
2 173,220
= 69,288
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26,000

7,800
18,200

26,000

307 2I12+0IA

M

26,000

7,800
18,200

26,000

10 AHRISXAEHE2SH 22X

OXIZOotSHE SAR JHHIEZZH(102))
200,000&*102!x12E

OXIYotSHEH SAL HE Aed=2(102)
100,000&%1021+23

M

M

26,000

24,000

7,200
16,800

2,000

600
1,400

26,000

M H

6,023

1,807
4,216

7,500

307 212+0I1&

M H

6,023

1,807
4,216

7,500

A1, 477

10 AlRIS AN EEE2EH 2 X
U

6,023,000

M

6,023

6,023
1,807
4,216

7,500

A1,477

M

18,000

3,600
14,400

18,000

307 2I12+0IA

M

18,000

3,600
14,400

18,000

18,000,000&

M

18,000

18,000

3,600
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S A

SKIXI2 1

Hu: Ols HAW AW 4
SERNEENESS (Sr9: &)
. i - PSEL =
S - ZE - SRI(31) - HRAY - BAS 04 b0t Sl Ao HIRE2
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